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is provided by

a) growth in national income at current
prices

b) growth in per capita real income from
year to year

c¢) growth in savings ratio

d) improvement in balance of payments
position

e) None of the above/More than one of

the above

BY - DR. BHARAT SIR

I 1. The best index of economic development 1. 3MdF fAFHH F1 Iad FDT TSP |

feruas gRIveH fFarsTa®ars 2

a) HIS[GT P1dl U= IHT oM # S
b) ufaad wfa safes arafa® sma o gfs

c) ¥9d 3uTd ¥ g
d) YTa= 2y ot fRyfad § gur

e) STdT H A P15 TRI/SWFT A A TP A
3ftre
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P 2. Consider the following statements and 2. fAuferf@d gl W AR a?r%m MR 1
choose the correct answer from the 12 feu e I 9gt SR g

following code given below: $Y9 (A) : Afdp fdorw & fou us
Statement (A): Economic development agamwwmaﬁmﬁeﬁ%l
requires a multi-pronged approach. PRI (R) : IO URd TP qEIa:
Reason (R): The present Government of India e i fvd w o 3T a3 @
is focusing primarily on microeconomic %I
“)"":'th SR and @it 2 @ IR ® T MR ®), @)
a o an are correct an is the
el THHIl g
correct explanation of (A)

b) (A) 3R (R f%= (R), (A) FT

b) Both (A) and (R) are correct, but (R) is ) ;';1 f( )ajﬁ“: (R (A)

not the correct explanation of (A)

c) (A)is correct, but (R) is false. ) (A) wel %' %ﬁ (R) TTeid %l

d) (A)is false, but (R) is true. d) (A)7Ted g, g (R)TE R |
BY - DR. BHARAT SIR 4




I 3. Which among the following is NOT a 3.

major factory of economic growth ?

a) Accumulation of capital and 1 reforms
in technology

b) Change in population

c¢) Division of labour in specialised
activities

d) Technocrats and Bureaucrats

BY - DR. BHARAT SIR

fFafafes & ¥ #19-91 anfiife f&ﬂﬂ'ﬂﬂ
A FRP § ?
a) Uoil &1 999 U4 dd-1d UK
b) W@ # URad—
c)ﬁﬂmﬁ?maﬁﬂﬁﬁfwfﬁm

faure=

d) GB-Ieidg Ud THIATE




&

Consider the following statements :

Human capital formation as a concept is better

explained in terms of a process which enables

1. individuals of a country to accumulate
more capital.

2. increasing the knowledge, skill levels and
capacities of the people of the country.

3. accumulation of tangible wealth.

4. accumulation of intangible wealth.

Which of the statements given above is/are

correct ?

a) 1Tand 2

b) 2 only

¢) 2and 4

d 1,3and 4

BY - DR. BHARAT SIR

e syt w faar Fifse . j
U HH U1 & ¥ # A194 Yoit fAafor
48R ATRES 39 Ufha1 & ¥u # 31 9Tl 8,
forae grI-
1. & 3 & aafea siftre oot &1 dag &%
U &l
2. 3 $ AN & T, B w1 T arwarait

# 3fS 8t ureit 21
3. MR Y9 ST ITG g U |
4. 3ATHER Y1 &1 U949 81 UTal 8 | Sudad YAl
AR PH-T/A TS e/8 ?
a) 1 3% 2
b) Had 2
)23 4 d) 1,334
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leads towards-

a) Proper utilization of resources

b) Increase in productivity
¢) Development of skill
d) All of the above

| 5. Increasing investment in human capital > W@ﬁmgwﬁﬁﬁnmﬁa 1

Hdl 8-

a) FATYAT BT IYfad WA
b) SATGH T H i

c) daar d fae™

d) SWRIad gt

BY - DR. BHARAT SIR
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Despite being a high saving economy, 6. 3I& ¥dd aral AJTaT §id 8¢ I fbw 1
capital formation may not result in m@ﬂﬁﬂ%ﬁqﬂmq@ﬁ

significant increase in output due to ufRonfia 8 8t urar 82
a) weak administrative machinery a) PHGIR AT dF

b) illiteracy b) ﬁ"\’m

c) high population density ¢) 3 WIS U

d) high capital-output ration d) 3= q:ﬁﬁ Scdlg AqUrd

BY - DR. BHARAT SIR




F 7. Consider the following statements about
the idea of "inclusive growth”

1.

The idea of inclusive growth entered
into the domain of planning with the
Eleventh Five Year Plan

This is not only concerned with
economic but also with social inclusion
The main idea behind inclusive growth
is to include SCS, STS, OBCs, minorities
and women in the country's
development process

The 3rd generation of economic reforms
runs parallel to the idea of inclusive
growth

Select the correct answer using the codes
given below

Codes

a)1,2and 3only b)2, 3 and 4 only
c)1,3and4only d)1,2 3and4all

BY - DR. BHARAT SIR

7. WA R ¥ e A Pwitsa wuat

far @ifve :

1. g e o1 flar fas=a & a3
Wmmasmm

|

2. Ug $ad (TIPS Bl 78l dicd ATHID
TaayE 3 N gefRa g

3. WHERN fapr & Uid g&1 YR 1Y
@t f[ao™ uishar & o,
gfad ST, 3= af,
IHEI®| UG Higarsi &1 giwfed

AT |
4. IS JFURT BT diEt Uil GHTERI
o™ & Iy-uTy 99 ﬂm%l

i 22 73 Fel ST U FId BT HEl IR
&1 994 DIVIT:

Pc:

a)®Paa 1,293 b)Pdda2,3d4
1,394 d)1,2,3d4
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| 8. Which of the following can aid in
furthering the government'’s objective of

inclusive growth?

1. Promoting self-help groups

2. Promoting micro, small and medium
enterprises

3. Implementing the right to education
act

Select the correct answer using the codes

given below

a) 1 only b) 1 and 2 only

c)2and3only d)1,2and3only/

BY - DR. BHARAT SIR

8. Wawm%ﬁma{@muaﬁmaaﬁs

fFafafeaa § & o9-91/8 o1d gegrae aifad
gl 9@ &

1. U YeTadT GHE! P! WedTg o1

2. Y&, I 3R A IHI BT W8 o
3. PRram &1 siftrer siftfaw anp &=
FrafefEa gl & R w8 IR g :
a)ml

b) Had 1 3R 2

c)asaazahvs

d) 1,233
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P 9. Match List-l with List-ll and select the 9.

correct answer using the code given
below.
List-| List-II

A. Economic development 1. GDP
B. Economic Growth 2. Environment
C. Sustainable Development 3. Health
D. Quality of life 4. Structural Change
Code:

ABCD
a)1234

b)4231

c)3412
E d4123
»

BY - DR. BHARAT SIR

Al-1 B T -1 F Gafera Sifore aur -j
el & A1 g 7T FT F1 W wRe

el IR BT T9 BIfore-
gAl-1 A1

A TS fap g 1. 9@ d R I
B. e gl 2. wafaror

c. Uuiffg e 3. @A

PcC:

A B & D
(a) 1 2 3 4
(b) 4 2 3 1
(c) 3 4 1 2
(d) 4 1 2 3




| 10. Economic Planning is subject of
a) Union list

b) State List
c¢) Concurrent list

d) Not written in any particular list

BY - DR. BHARAT SIR

10. 3nfe Frare fwa 2-
a)m‘\{ﬁﬁ
b) I It
c) GHadl gt #
d) frdt fasie =t # Sff@a =gt @

B




11. Which one of the following was not a part 11. Fd3dT F dHTd di¢ HIRd b ETaTsﬁ Q?I

of the strategies followed by the IS Bl a'g'ﬁ % f%rq HRd SYPIR gRT
Government of India to increase food grain BT B (YT T HrAdl ST 0B
production in India immediately after I FaffRad A F-TTes T8 41 2

Independence ? a) ﬂ'sﬁ 3 ﬁ HP 3@ ¥ B I FT
a) Intensification of cropping over already o
cultivated land b) aFf F13 o ik 1‘@ #1 o
b) Increasing cultivable area by bringing @ﬁ)&; it areY @S 3 g9y &3
cultivable and fallow land under plough e
c¢) Using high-yielding varieties (HYV)
I c) maﬂﬁrm’f(uvw%ﬁa’fm

d) Switching over from cash crops to food

e d) THdl BUAl & dcd H W B! Bl

@1 3R g=91)
L BY - DR. BHARAT SIR J




ﬁ Match List-l1 with List-ll and select the 12. ?Ia-l G| ‘\'[ﬁ ST | ﬁﬁf%lﬂ PIforg m
correct answer using the code given ?Iﬁ'!ﬂ & 9 feu MU PC DI T HID
below. el IR BT IY9 HIfoIe-

List-| List-1I -l T -
A. First 1. S. Chakravarty Model A.UYH  1.TH. 9adl disd
B. Second 2. Harrod-Domar Model B.fgdla 2. NS SR Alsw
C. Third 3. Ashok Rudra Model C.gdld 3. 3o
D. Fourth 4. Mahalanobis Model D.Tqd 4. HETAAIGd HIsd
Code: :

e @?.A “ s e
a)1324 a) 1 3 2 4
b)2413 b) 2 4 1 3

c) 3 1 4 3
c)3124 d 2 1 4 3
Ld)2143 BY - DR. BHARAT SIR J
4




’ 13. The basis of the first five-year plan in 13. ¥RRd ¥ Ugdl YIqug TIeiAT $T YR 4T- 1

India was a) %?VE - SR Aisd
a) Harrod-Domar model b) ﬂ'ﬂ?l’ﬁﬁ'ﬂ Hisd
b) Mahalanobis model c) m ARGl Aied
¢) Dadabhai Naoroji Model d) . gdl. ﬁ?‘\’?" Hisd
d) JL Nehru model e)mﬁﬁaﬁ'{ﬂﬁ/mﬁﬁw
e) None of the above/More than one of q 3iftre
the above

BY - DR. BHARAT SIR




’ 14. Which five year plan of India has laid 14. YRd @1 Ugqug Qa1 & | {69 giern 1
emphasis on “faster, sustainable and # ftre dtg, Suryvitg qut sifus Jamasi

more inclusive growth” ? H’Q’@ W SR fear mar 82
a) Ninth Five year plan a) It vaadfa e

b) Tenth Five year plan b) Al UqUIT TreiAT
c) Eleventh Five year plan ¢) TRegd! Yaauig greT
d) Twelfth Five year Plan d) IRgdl Ygauig gieT

BY - DR. BHARAT SIR




